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19

20.

Thereare ............ releasing factors in bacteria for translation.

a=3
[

EtBr is an example of.............
a. DNA marker
¢. Chemical mutagen

Pol I and Pol Il are.........
a. Polymerizing enzymes
c. Ligating enzymes

............... gets converted to protein.
a. Pre RNA
c. Native RNA

The cause of mutation is..............
a. Mulagen
c. RNA

Codons are present in.............
a. tRNA
¢. Anticodon loop

Imagine the DNA having no telomere.
a. Itis circular
c. Itislinear

b.
d.

13
19

DNA ladder
Physical mutagen

Telomerase synthesis enzymes
Repair enzymes

Introns

. Genes

DNA
All are correct

Variable loop
Genelic code

. Circular and double stranded

Circular or exonuclease DNA product

Which of the following, is present in a nucleosome?

a. H2A
c. Bothaandb

The cap in mRNA is ............. bond.
a," b3’

c. 55

TATA box isa partof..............

a. Enzyme
c¢. RNA

b.
d.

H2C
H5

W W

. Promoicer

. Operaior
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(Descriptive ]

Time : 2 hr. 30 mins. Marks: 50
[ Answer question no.1 & any four (4). from the rest]

Explain the different ty pes of enzymes involved in replication process. 10

2. What is chromosome? Explain types of chromosomes. 2+8=10

3. Explain the Watson and crick model. Calculate the number of adenines 8+2=10
in DNA. (Given, Total=3000 and G=200).

4. Explain the role of sigma factor. Write a note on transcription in 3+7=10
bacteria.

5. lllustrate the mechanism of gene regulation in bacteria by taking the 10
model of Lac operon.

6. Explain the process of translation initiation. Mention the reaction of 7+3=10
amino acid activation.

7. Write is promoter? Write the significance of sigma and rho factors. 3+7=10
Define DNA repair. Explain the photoreactivation mechanism of 2+8=10

repairing DNA.
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